EAGRAROBREERT — 2 N— ABISH —F

202037150 (H) 1HE4m6H

M bSR3 KEM [HET] B ‘ [Xiz] % ‘ [eErsm]  — | 4 (&) 12000 FAE
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. . C. VA= 492, - . - LAEET (ER)
il1lq | 7=—==rm-x% ) i M VG A
R:AL>TSyoel B/ T794=2Y ERT7—L
= .2 N HD#(E 112, — . — PHTTE (BR)
» NEEPEY Y, 4 3 o 1 (132) 9 7-6 36.9 6 «g? f¥bciss
X THANAN B:TUENILA Fy P EFXT 7 — L
3 4| TT—NT Y20 # 3 ?Z?Eﬁk 171?:5) 1-1 8.0 — | 4 (42130) 1§%¢§§§*§§§>
Qb ¥IO—U— BTr-NT—5— N0 g
. s 3 | BAHE— 1:13.2 4-4 37.7| — 3 480 |MTHLE (RR)
4156 T7roFdF—FK—2 56.0 (1 1/4) (-g) | BAFR
Rix4agR—-5— B:32a7F TATLRAT7—L
v S ft 3 | SltE— 1:13.4 2-2 38.3| — 5 502 | BEEEZ (XiH)
5/5|5 J—ILRF—-7 54.0‘( (1 1/4) (-20) 2R G
RIA>T75yva BTN ESstie]
— 4 3 | BEED 1:14.1 10-10 | 37.6| — 7 442 | FRBE (BR)
EH 3| TIRE— A53.0 ) © | @R AFEIE—LT T2
R:h—t>hvwL ARy B:Ry KvyL1a BN T 7 — I
=53 B3 | JIEEHE 1:14.3 6-6 8.7 — 2 448 | RHETT (RR)
718117 173A 54.0 (1 1/4) o |FESE
RFA—TALNT N BACFT I — HET7— L
. - EHEXR : - — A — (ER)
gl7lo| ¥1vavy75> R 6 e | e |
RixAagR—-5— B:HILAHYD— E 8T
. . [k 114, - . - NEFRER (Ei#)
9|7|10| X T~k s A51.0 (11 134/46) e e ) ff) llhé\t.ﬁ%
RiwvyUgdyk Bily RKNS—R e
o HES 3 | REWEC 1:14.6 9-9 38.4| — 9 446 | RZILFEHD (3E3R)
10/ 8|12| AV *Z 56.0 (¥) 2 AR
LI >T75y>a BLTTSFF BEET7—L
N = BN : - - BKER (EH)
1 7| /—FLayrF— [B] 4 3 i 1;@_7 -1 |37.7 10 (4:8) RART &
L:Z/ w7 B4R/ —-TLZX BEHREHPHSE
of [© . PR 14, - . - E2EB— (E#)
1 o |V EwNZY 3 s (11 114/29) -1 | 37.9 12 :?g) E}Em&
:2kE>T7Us—> B:Z2—-3-7/LI HEBAYS
@ 71 L
) 48.9-37.4
NA>ZA L | 12.6-10.9-11.5-12.3-12.5-12.6
@ I —F—@EBIERL
13—7+—
230—7F—
Fol=5r= 4,5,9(1,6)11-(8,10)12,3-(2,7)
43—+— | 4,5,9(1,6) (8,11)10,12-3-(2,7)
[ N3
BB 1 220M 714K 1-8 670M e E 1-6 1,770M JEHE 1-4-8 2,910
8 B 1 130M4 1-4 360M B = 1-8 1,940 @ 1-8-4 11,490M
8 280 4-8 1,350M B H 1-8 2,610
4 230M

ABRICOVTHRTEEERROODE, THEB LS,




